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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
BV
= 1 112, 525, 138
T
= 1 3, 004, 535
PRI T
m3 2,000 948, 600
i1 w7 vhyh M BEEA S,
000m3 A
= 1 948, 600
Fe AL T
= 1 2, 055, 935
gt gL (O-27)
= 1 298, 220
i S T Cadl- ERiRY L&)
= 1 1,757,715
IR
= 1 99, 296, 684
E¥LT
= 1 360, 761
MIT
= 1 98, 935, 923
H ARAAR[E ¢ 20094+
m2 1,735 24, 209 42,002, 615
FREDNT t=50cm FEATVIAvE BT FX15
~20cm
m2 1,735 28, 820 50, 002, 700
i) 54+
m3 712 9,734 6, 930, 608
HEEE L
= 1 92, 550
-1- ELzmd s i
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & TE (B ESM)
PITWEL
= 1 92, 550
H AR AR E O i ¢ 30094+
m2 30 3, 085 92, 550
Gan
= 1 10, 131, 369
THAEK T
= 1 2, 688, 334
TEAERRE L 4. 0omPd b
m3 40 3, 582 143, 280
RO F RC-40 #JZ 100mm
m2 78 406. 6 31,714
KD 5 RRE i
] 26 4, 427 115, 102
TEAERRE L 4. 0omPd b
= 1 2, 023, 500
Pt ik FAI79v477 RC-40 t=150mm
= 1 374, 738
T AE RS T
= 1 2, 352, 859
T B T TR A7 vhyh PR B 5,
000m3 A
m3 50 289 14, 450
R (SR T Cadl- ERiRY L&)
= 1 124, 600
gt gL (-27)
= 1 5,735
KA+ H e
] 26 3, 949 102, 674
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
T B T TR A7 vhyh PR B 5,
000m3 A
= 1 2, 105, 400
- 8F - B T
= 1 1, 464, 016
K +D 5 RRE A
fe 88 4, 492 395, 296
KD 5 AR A7
fe 146 3, 240 473, 040
KA+ H SN
fe 146 4, 080 595, 680
KA
= 1 530, 280
V7" Bk VEZEREHEK
= 1 530, 280
1R IE T
= 1 1, 337, 200
V5V IET A FE - AR (A
= 1 1, 337, 200
ARmE T
= 1 1, 758, 680
AW B
= 1 1, 758, 680
B TR
= 1 112, 525, 138
I L
= 1 12, 343, 482
MR
= 1 2, 486, 812
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
BGmEsET (K30
= 1 2, 486, 812
HIMGERE (FE L)
= 1 9, 856, 670
Wi
= 1 124, 868, 620
B
= 1 34, 526, 254
T AT
= 1 159, 394, 874
— R
= 1 25, 405, 126
TS
= 1 184, 800, 000
THEBLFH Y %H
= 1 18, 480, 000
TH#&G
= 1 203, 280, 000
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